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QUESTION 1

Which service does Cloud Volumes ONTAP tiering use?
A. Azure Blob

B. Azure Queue Storage

C. Azure Data Lake Storage

D. Azure Stack

Correct Answer: A

QUESTION 2

Which type of service is an Amazon EC2 instance?
A. storage

B. switch

C. compute

D. networking

Correct Answer: C

QUESTION 3

What are three NetApp ONTAP storage efficiencies? (Choose three.)
A. compression

B. thin provisioning

C. quality of service

D. deduplication

E. audit logs

Correct Answer: ABD

QUESTION 4
Regarding system high availability, what is the reference used to determine reliability?

A. the amount of data available to users and how quickly they can access it, measured in IOPS
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B. the number of hard drives available in a system, with more drives indicating more reliability

C. the number of data network components available between the data and the user, measured in packet per second
(PPS)

D. the number of nines; for example, two nines (99), three nines (99.9), four nines (99.99), and five nines
(99.999)

Correct Answer: D

QUESTION 5

What would be used with Cloud Volumes Service to create Snapshot copies, catalog backups, and perform file-level
restores?

A. Cloud Backup Service
B. Azure NetApp Files

C. Cloud Volumes ONTAP
D. Cloud Sync

Correct Answer: A
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